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GENERAL APTITUDE

1. The different group of stars is known as
A) Constellations B) Celestial bodies C) Asteroids D) Comet

2. Which country has two-party system?
A) India B) Sri Lanka C) United Kingdom D) Nepal

3. Which of the following is a macro nutrient?
A) Mn B) Mg C) Cu D) Zn

4. The process of evaporation causes
A) Cooling B) Heating C) Dryness D) None of these

5. Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin

6. How does light normally travel?
A) In concentric circles B) In a straight line
C) Always towards a dark area D) In a curved line

7. First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

8. A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

9. In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

10. Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

11. HCF of 84 & 270 is
A) 8 B) 6 C) 4 D) 2

12. The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

13. 7:12 is equivalent to:
A) 28 : 40 B) 42 : 71 C) 72 : 42 D) 42 : 72

14. Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4th Feb 2005 to 18th April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

15.  The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A) 0 B) 1 C) 10 D) 19

16. An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr
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DOMAIN KNOWLEDGE

21. Distortion in castings can be reduced by
A) modifying design B) providing sufficient machining allowance
C) improving foundry practice D) all of the above

22. Gated patterns are normally used for
A) mass production of small castings B) production of castings which do not require machining
C) castings having several hollow spaces D) castings for light metals

23. The amount of machining allowance on castings depends on
A) size and shape of the casting B) casting orientation
C) characteristics of the metal D) all of the above

24. Skeleton patterns are generally used for
A) small casting B) non-ferrous castings C) large castings D) hollow castings

25. The draft allowance to be provided on a pattern depends on
A) the length of the vertical side of the pattern to be extracted
B) the intricacy of the pattern
C) the method of moulding
D) all of the above

26. Shell patterns are often used for
A) pipe work B) bends C) drainage fittings D) all of the above

27. The permeability of moulding sand depends on
A) grain size B) grain shape C) moisture content D) all of the above

28. By compacting the sand
A) density increases and permeability B) density decreases and permeability increases
C) both density as well as permeability decrease D) both density as well as permeability increase

17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

18. What decimal of an hour is a second?
A) .0025 B) .0256 C) .00027 D) .000126

19. A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples

20. A does a work in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days



41499_17 (C)

29. Permeability of sand decreases as
A) permeability increases B) moisture content increases
C) bonding content increases D) all of the above

30. The property of sand to withstand the high temperature of the molten metal without fusing or breakdown is known
as
A) refractoriness B) cohesiveness C) porosity D) adhesiveness

31. Clay content of green sand is usually
A) 1 to 3 percent B) 5 to 10 percent C) 18 to 30 percent D) 30 to 50 percent

32. Which of the following sand must possess high refractoriness?
A) Backing sand B) Parting sand C) Facing sand D) all of the above

33. Which of the following is used to obtain fine surface finish in ferrous castings?
A) Ground pitch B) Sea coal C) Gilsonite D) any of the above

34. The burnt on sand causes difficulty in
A) machining of castings B) removal of castings from moulds
C) separation of sand and castings after pouring D) all of the above

35. The amount of coal dust added to moulding sand depends on
A) shape of the casting B) thickness of the casting C) temperature of pouring D) none of the above

36. Which of the following is used as protective admixture in moulding sand for magnesium castings?
A) Boric acid B) Sublimed sulphur C) Fluoric additives D) Any of the above

37. Which of the following is a screen?
A) Shovel B) Riddle C) Rearner D) Slick

38. A slick is mainly used for
A) making openings in mould B) providing openings in the mould
C) repairing and finishing of mould D) removing pattern from the mould

39. Swab is used for
A) applying water to the mould around the edge of the pattern
B) shaking pattern to facilitate its with drawl from the mould
C) repairing and finishing of mould
D) none of the above

40. Which of the following facilitates shaking and lifting large pattern from the mould?
A) Trowel B) Swab C) Bellows D) Ripping plate

41. First step in reclaiming the moulding and core sand is
A) addition of moisture B) reproportioning of binder
C) separation of metal particles D) any of the above

42. When bench moulding is adopted using three boxes, the central box is called
A) cope B) cheek C) drag D) none of the above
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43. Sodium silicate in sand in often used as
A) substitute of clay B) binder
C) refractory material D) permeability promotion agent

44. In furan process, furan resins are primarily used as
A) binders B) chemicals for exothermic reactions
C) fluxes D) none of the above

45. A drawback is employed when
A) the pattern is too bulky
B) the pattern is too long
C) the pattern cannot be drawn from mould due to projection
D) the pattern is not made of wood

46. Blow holes in castings are due to
A) high moisture content of the sand B) low permeability of sand
C) excessive fine grains and gas producing ingredients D) any of the above

47. Scabs may be caused by
A) low permeability of sand
B) high moisture content of sand
C) intermittent running of molten metal over the sand surface
D) any of the above

48. Chaplets are
A) core binders B) core supports
C) core projections D) mould seats to support core

49. Chaplets are provided to
A) reduce core sag B) support heavy cores
C) compensate for inadequate coreseats D) all of the above

50. The cross-section of a sprue
A) square B) circular C) rectangular D) any of the above

51. Oil fired furnaces are generally used for the melting of
A) cast steel B) alloy steel C) cast iron D) non-ferrous metals

52. In copper alloy foundry which of the following is used to prevent the molten metal from being oxidized?
A) charcoal B) bone ash C) phophorous D) calcium carbonate

53. The drawback with metallic pattern is
A) excessive weight B) expensive C) difficult to shape D) all of the above

54. Electric furnaces can usually operate upto a temperature of
A) 1000°C B) 1250°C C) 1700°C D) 2200°C
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55. The disadvantage in using wood as the material for pattern making is
A) its low cost
B) its different strength along the grains and across the grains
C) it gets warped when not stored properly
D) it is lighter than the metal to be cast

56. Which wood can be used for making patterns?
A) Mathogany B) Pine wood C) Teak wood D) any of the above

57. Plaster patterns and core boxes are made of
A) Plaster of Paris B) Gypsum cement C) Bone china clay D) White powder

58. Wax patterns are used in
A) non-ferrous castings B) investment casting process
C) machine moulding process D) all of the above

59. When wooden patterns with metallic coating are to be used, the metal sprayed on wooden pattern could be
A) bismuth B) zinc C) aluminium D) any of the above

60. Pit furnace can be used for the melting of
A) cast iron B) aluminium C) brass D) any of the above

61. When sulphur is to be removed from cast iron while melting the same in cupola, the flux used is
A) molasses B) sodium carbonate with lime stone
C) zinc sulphate with lime stone D) none of the above

62. In melting of aluminium, the dross consists of
A) oxides of aluminium, magnesium etc. B) sand and dust
C) lighter material D) none of the above

63. Consumable patterns are made of
A) polystyrene B) wax C) plaster of paris D) any of the above

64. There is no need for the withdrawal of pattern from the mould in case of
A) wax patterns B) hollow patterns C) patterus with core D) consumable patterns

65. Polystyrene is generally available in the form of
A) plates B) cylindrical bars C) square sections D) trapezoidal moulds

66. Wood used for pattern making has knots. This is likely to affect
A) warping of the piece B) machinability of pattern
C) moisture content of wood D) all of the above

67. While selecting wood for patterns, one should
A) discard the rot B) select the cross-grained woods
C) select the fresthy filled wood D) discard the seasoned wood

68. Which wood is difficult to machine?
A) Freshly failed wood B) Old and used wood C) Kiln dried wood D) Seasoned wood
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69. The contraction allowance for pattern depends on
A) composition of the metal B) method of moulding used
C) pouring temperature D) all of the above

70. In small castings which of the following allowance can be ignored?
A) Shrinkage allowance B) Rapping allowance C) Draft allowance D) Machining allowance

71. Sprues are generally
A) uniform size B) tapered downwards C) tapered upwards   D) None of these

72. Which of the following defect may occur due to improper design of gating system?
A) Cold shuts B) Rough surfaces C) Misruns D) any of the above

73. Which one the following metals, the pouring rate should be minimum ?
A) steel B) aluminium C) brass D) cast iron

74. If dross and slag along with the liquid metal reach the mould cavity they produce the defect known as
A) misrun B) inclusions C) blow holes D) all of the above

75. Hot spots are generally found in castings
A) having abrupt variation in section B) with uniform cross-section
C) symmetrical about two axes D) small in weight but large in volume

76. The most efficient shape of a series is that which
A) given a minimum heat loss B) keeps the metal in molten state for longer period
C) both (A) and (B) above D) None of these

77. The method in which green sand is generally used is
A) pit moulding B) plate moulding C) bench moulding D) none of the above

78. The location of riser least depends on
A) the metal to be cast B) the size of core
C) design of casting D) feasibility of directional solidification

79. A blind riser can be located
A) in cope B) in drag C) in either cope or drag D) in cheek only

80. Padding is
A) a method for production of chilled castings
B) an extra support for thin castings
C) an extra metal added to the original uniform section of the casting
D) none of the above

81. Melting point of copper
A) 665°C B) 1083°C C) 1444°C D) 1576°C

82. Gold melts at
A) 1063°C B) 1444°C C) 2100°C D) 3300°C

83. Which of the following metals has the lowest melting point?
A) Magnesium B) Silver C) Zinc D) Tin

84. A blast furnace operates continuously for
A) hours together B) days together C) weeks together D) months together
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85. A cupola one metre in diameter and 4 metres in height will melt in one hour about
A) 0.5 tonnes of iron B) 2 tonnes of iron C) 5 tonnes of iron D) 10 tonnes of iron

86. Thermal efficiency of cupola is in the range
A) 80 to 90 percent B) 60 to 75 percent C) 50 to 65 percent D) 30 to 50 percent

87. The advantage of oxygen enriched cupola is
A) higher temperature of molten iron B) high efficiency of cupola
C) reduced heat loss in waste gases D) all of the above

88. Which inoculant is used to produced ductile iron?
A) Magnesium B) Carbon C) Graphite D) Fluorides

89. Contraction of metal starts at the end of
A) liquid stage B) mushy stage C) plastic stage D) solid stage

90. Permanent mould casting is also known as
A) gravity die casting B) chill casting C) slush casting D) short casting

91. The advantage of centrifugal casting is
A) dense castings B) elimination of cores
C) mass production with reduced rejection possible D) all of the above

92. Which of the following is not necessarily the characteristic of investment casting?
A) Extreme dimensional accuracy
B) Excellent surface finish
C) Low cost
D) No disfiguring parting line as found on castings made by cope and drag methods

93. Investment casting finds application in all of the following EXCEPT:
A) Milling cutters B) Gold ornaments C) Jet engine nozzles D) Buckets for superchargers

94. For grey cast iron the pouring temperature is
A) 1510 to 1532°C B) 1455 to 1495°C C) 1400 to 1465°C D) 1250 to 1290°C

95. Which of the following process is used for melting of steel?
A) L D process B) Kaldo process C) Duplex process D) All of the above

96. Which parameter can be used for the measurement of melt in a foundry?
A) Thermo couple pyrometer B) Optical pyrometer
C) Radiation pyrometer D) none of the above

97. Malleable castings are used for
A) boilers B) Automobiles C) Elevators D) all of the above

98. Die casting dies are generally made of
A) cast iron B) aluminium alloys C) alloy steels D) bronze

99. Shaving of die casted parts is the process of removal of
A) sprue B) flash C) runner D) none of the above

100. Chemical dipping of die casted parts is usually done for
A) flash removal B) dimensional stability C) corrosion protection D) none of the above
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GENERAL APTITUDE   1111....    तार� के िविभ� समूह कहलाते ह�     A) तारामंडल A) आकाशीय �पड C) �ु��ह D) धूमकेतु  2222....    �कस देश म� दो दलीय !णाली ह?ै     A) भारत A) $ी लंका C) यूनाइटेड )क*डम D) नेपाल  3333....    िन+ म� से कौन एक मै.ो पोषक ह?ै     A) Mn A) Mg C) Cu D) Zn  4444....    वा0पीकरण क1 !�.या का कारण होता ह ै    A) शीतलन A) तापन C) शु0कता D) इनम� से कोई नह3  5555....    पृ5वी के सतह पर फोकस के ठीक ऊपर का 9थान कहलाता ह ै    A) 9;ाइक A) कोमा C) एिपस�टर D) ओ=रिजन  6666.... !काश समा?यतया कैसे चलता ह?ै  A) क� �ािभमुख वृB म� A) एक सीधी रेखा म� C) हमेशा एक अंधेरे �ेE म� D) एक घुमावदार रेखा म�  7777.... वह पहला देश जहां औHोिगक .ांित Jई :  A) Kांस A) िLटेन C) जमMनी D) यू एस ए  8888.... एक सौर जल हीटर का !योग पानी गरम करने के िलए नह3 कर सकते ह�     A) धूप वाल े�दन म� A) बादल वाले �दन म� C) एक गरम �दन म� D) हवादार �दन म�  9999....    भारत म�, पहला सूती कारख़ाना 9थािपत Jआ था     A) म�ास म� A) बॉQबे म� C) कानपुर म� D) सूरत म�  10101010....    =रगर िमRी इसका दसूरा नाम ह ै    A) काली िमRी A) िचकनी िमRी C) ए=रड िमRी D) लेटेराइट िमRी   11.11.11.11.    84 & 270 का महBम समापवतMक ह ै    A) 8 A) 6 C) 4 D) 2  12.12.12.12.    3 के !थम पाँच गणुज� का योग ह ै:     A) 45 A) 65 C) 75 D) 90  13.13.13.13.    7:12 बराबर ह ै:     A) 28 : 40 A) 42 : 71 C) 72 : 42 D) 42 : 72  14.14.14.14.    T. 2000 का 25/4% वाUषक क1 दर से 4 फरवरी 2005 से 18 अ!ेल 2005 तक क1 अविध का साधारण Vाज Wात कर�     A) T. 35 A) T. 30 C) T. 25 D) T. 40  15.15.15.15.    20 संXयाY का औसत शू?य ह।ै इनम� से अिधक से अिधक �कतनी संXयाए शू?य से अिधक ह�गी?     A) 0 A) 1 C) 10 D) 19 
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 16.16.16.16.    एक धावक 24 सेक� ड म� 200 मीटर दौड़ता ह।ै उसक1 गित ह?ै     A) 10 �कमी/घं A) 17 �कमी/घं C) 27 �कमी/घं D) 30 �कमी/घं  17.17.17.17.    !]येक ता^कक संXया ह ै A) एक !ाकृितक संXया A) एक पूणा_क C) एक वा9तिवक संXया D) एक पूणM संXया  18.18.18.18.    एक घंटे का �कतना दशमलव एक सेक� ड ह?ै     A) .0025 A) .0256 C) .00027 D) .000126  19.19.19.19.    एक फल िव.ेता के पास कुछ सेव ह�। वह 40% सेव बेच देता ह ै�फर भी उसके पास 420 सेव बच जाते ह�। उसके पास मूल Tप से �कतने सेव थे?     A) 588 सेव A) 600 सेव C) 672 सेव D) 700 सेव  20.20.20.20.    A �कसी काम को 10 �दन� म� करता ह ैऔर B उसी काम को 15 �दन� म� करता ह।ै वे साथ िमलकर उस काम को �कतने �दन� म� कर�ग?े     A) 5 �दन A) 6 �दन C) 7 �दन D) 8 �दन   
DOMAIN KNOWLEDGE   22221.1.1.1.    का�9टग म� िवTपण इससे कम �कया जा सकता ह ै     A) िडजाइन सुधार   B) पयाMa मशी�नग अलाव�स !दान करना   C) ढलाई Vवहार सुधारना  D) उपयुMb सभी 22222.2.2.2.    गेटेड पैटनM का समा?यतया !योग इसके िलए होता ह ै     A) छोटे का�9टग का बड़ी संXया म� उ]पादन   B) उस का�9टग का उ]पादन िजसके लोए मशी�नग जTरी नह3 ह ै  C) कई खोखले 9थान वाल ेका�9टग   D) हcके धातु क1 का�9टग   22223.3.3.3.    का�9टग पर मशीन अलाव�स क1 माEा इस पर िनभMर करती ह ै     A) का�9टग का आकार और बनावट  B) का�9टग िव?यास  C) धातु क1 िवशेषता   D) उपयुMb सभी  22224.4.4.4.    ढांचा पैटनM का !योग समा?यतया इसके िलए �कया जाता ह ै     A) छोटी का�9टग  B) अलौह का�9टग  C) बृहद का�9टग  D) खोखली का�9टग  22225.5.5.5.    पैटनM पर �दया जाने वाला dाeट अलाव�स इस पर िनभMर करता ह ै     A) हटाए जाने वाले लQबवत भाग क1 लंबाई B) पैटनM क1 ज=टलता   C) मो�cडग क1 पfित   D) उपयुMb सभी  22226.6.6.6.    शेल पैटनM का !योग अgसर इसके िलए होता ह ै     A) पाइप कायM  B) मोड़  C) नाली �फhटग  D) उपयुMb सभी 
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 22227.7.7.7.    मो�cडग बालू क1 पारगQयता इस अपर िनभMर करती ह ै     A) दाना का माप   B) दाना आकार  C) नमी प=रमाण  D) उपयुMb सभी  22228.8.8.8.    बालू को गठीला करके      A) घन]व और पारगQयता बढ़ती ह ै B) घन]व घटता है और पारगQयता बढ़ती ह ै  C) घन]व और पारगQयता दोन� घटती बढ़ती ह ै D) घन]व और पारगQयता दोन� घटती घटती ह ै 22229.9.9.9.    बालू क1 पारगQयता घटती ह ैजब          A) पारगQयता बढ़ती ह ै B) नमी माEा बढ़ता ह ै C) बंधक प=रमाण बढ़ता ह ै D) उपयुMb सभी  33330.0.0.0.    बालू का eयूस या टूटन के िबना धातु गलाने के िलए उi तापमान सहने क1 िवशेषता कहलाता है      A) ददुMQयता  B) संगतता  C) सरंjता  D) ससंजकता   33331.1.1.1.    हरे बालू का मृदा प=रमाण समा?यतया होता ह ै     A) 1 से 3 !ितशत B) 5 से 10 !ितशत C) 18 से 30 !ितशत D) 30 से 50 !ितशत  33332.2.2.2.    िन+ म� से �कस बालू म� उi ददुMQयता अवkय होती ह?ै     A) बे)कग बाल ू B) पाlटग बालू  C) फे�सग बाल ू D) उपयुMb सभी  33333.3.3.3.    लौह का�9टग म� िन+ म� से �कसका !योग सूmम सतह �फिनश !ाa करने के िलए होता ह?ै     A) �ाउंड िपच  B) समु�ी कोयला  C) िगcसोनाइट  D) उपयुMb म� से कोई भी  33334.4.4.4.    बालू पर जलन होने से असुिवधा होती है      A) का�9टग को मशीन म� देने म�  B) मोcnस से का�9टग हटाने म�   C) उड़ेलने के बाद बालू और का�9टग को अलग करने म�  D) उपयुMb सभी 33335.5.5.5.    मो�cडग बालू म� िमलाए गए कोयला धूल का प=रमाण इसपर िनभMर करता ह ै     A) का�9टग का आकार  B) का�9टग क1 मोटाई  C) उड़ेलने का तापमान  D) उपयुMb म� से कोई नह3  33336.6.6.6.    िन+ म� से �कसका !योग म�oेिशयम का�9टग के िलए बालू मोcड करने म� संर�क िम$ण के Tप म� होता ह?ै     A) बो=रक अQल  B) सबलाईQड सcफर  C) eलो=रक एिड=टpस  D) उपयुMb म� से कोई भी  33337.7.7.7.    िन+ म� से कौन एक 9.1न ह?ै     A) शोवेल  B) रीडल  C) रीमर  D) ि9लक  33338.8.8.8.    एक ि9लक का !योग मुXयतः इसके िलए होता ह ै    A) मोcड म� rार बनाने   B) मोcड म� rार !दान करने  C) मोcड क1 मरQमत और �फिनश करने  D) मोcड से पैटनM हटाने   33339.9.9.9.    9वाब का !योग इसके िलए होता ह ै     A) पैटनM के चार� िसरे पर मोcड म� पानी देना  B) मोcड से पैटनM को िनकालने के िलए उसे िहलाना  C) मोcड क1 मरQमत और �फिनश करने D) उपयुMb म� से कोई नह3  44440.0.0.0.    िन+ म� से कौन बड़े पैटनM को िहलाने और उठाने क1 सुिवधा देता ह?ै     A) ;ोवेल  B) 9वाब  C) बेलो  D) =र�पग sलेट   
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44441.1.1.1.    मो�cडग और कोर बालू को वापस पाने का पहला कदम ह ै     A) नमी को जोड़ना  B) बंधक का रेपरोपोरश�नग C) धातु कण� को अलग करना  D) उपयुMb म� से कोई भी  44442.2.2.2.    जब ब�च मो�cडग को तीन बgसे का !योग करके बनाया जाता ह ैतो tेतरल बॉgस कहलाता ह ै     A) कोप  B) चीक  C) dेग  D) उपयुMb म� से कोई नह3  44443.3.3.3.    बालू म� सोिडयम िसिलकेट का !योग अgसर होता ह ै     A) मृदा का 9थानाप�   B) बाइंडर   C) ददुMQय पदाथM   D) !ोमोशन एज�ट का पारगQयता  44444.4.4.4.    फुरन !�.या म�, फुरन रेिसन का !योग मुXयतः होता ह ै     A) बाइंडर   B) एgसोथUमक !ितकृया के िलए रसायन   C) uलेgस   D) उपयुMb म� से कोई नह3  44445.5.5.5.    dाबैक लगाया जाता ह ैजब      A) पैटनM अिधक 9थूल ह ै B) पैटनM काफ1 लंबा ह ै  C) !ोजेgशन के कारण मोcड से पैटनM नह3 बनाया जा सकता ह ै  D) पैटनM लकड़ी से नह3 बना ह ै  44446.6.6.6.    का�9टग म� िछ� करने का कारण ह ै    A) बालू का उi नमी प=रमाण  B) बालू क1 िन+ पारगQयता  C) अ]यिधक सूmम दाने और गसै बनाने वाले त]व  D) उपयुMb म� से कोई भी  44447.7.7.7.    9केvस इसके कारण होता ह ै     A) बालू क1 िन+ पारगQयता   B) बालू का उi नमी प=रमाण  C) बालू के सतह पर कभी-कभी गल ेJए धातु को चलाना  D) उपयुMb म� से कोई भी  44448.8.8.8.    चेपलेwस होते ह�      A) कोर बाइंडर   B) कोर आधार   C) कोर !ोजेgशन    D) कोर को आधार देने के िलए मोcड सीट  44449.9.9.9.    चेपलेwस !दान �कया जाता ह ै    A) कोर सैग कम करने के िलए  B) भारी कोर को आधार देने के िलए  C) अपयाMa कोरिसwस क1 !ितपूUत करना  D) उपयुMb सभी  55550.0.0.0.    9!ू का ितयMक काट होता ह ै     A) वगM  B) वृB  C) आयत  D) उपयुMb म� से कोई भी  55551.1.1.1.    तेल से जले फनxस का !योग समा?यतया इसे गलाने के िलए होता ह ै    A) का9ट इ9पात  B) िम$धातु इ9पात  C) का9ट लोहा  D) अलौह धातु  55552.2.2.2.    कॉपर िम$धातु ढलाईखाने म� िन+ म� से �कसका !योग गल ेधातु को ऑgसीकृत होने से रोकने के िलए होता ह?ै     A) चारकोल B) बोन ऐश  C) फो9फोरस  D) कैिcशयम काबzनेट  
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55553.3.3.3.    धातुवी पैटनM क1 एक कमी ह ै     A) अ]यिधक भार  B) महगंा  C) आकार देने म� असुिवधा  D) उपयुMb सभी  55554.4.4.4.    इलेिg;क फनxस इस तापमान तक अgसर कायM करते ह�      A) 1000°C B) 1250°C C) 1700°C D) 2200°C  55555.5.5.5.    पैटनM बनाने के िलए लकड़ी के उपयोग क1 एक नुकसान ह ै�क      A) इसक1 लागत कम ह ै  B) दान� पर और दान� के चार� ओर इसक1 शिb अलग होती ह ै C) जब सही से भंडार न �कया हो तो यह ढका जाता ह ै D) यह ढाल ेजाने वाले पदाथM से हcका होता ह ै 55556.6.6.6.    पैटनM बनाने के िलए �कस लकड़ी का !योग �कया जाता ह?ै     A) महोगनी  B) पाइन लकड़ी  C) टीक लकड़ी  D) उपयुMb म� से कोई भी  55557.7.7.7.    sला9टर पैटनM और कोर बgसे इससे बने होते ह�     A) sला9टर ऑफ पे=रस  B) िजsसम सीम�ट  C) बोन चाइना िमRी  D) सफ़ेद पावडर  55558.8.8.8.    मोम पैटनM का !योग इसम� होता ह ै     A) अधातु का�9टग  B) िनवेश का�9टग !�.या  C) मशीन ढलाई !�.या  D) उपयुMb सभी 55559.9.9.9.    जब धातुवी परत के साथ लकड़ी का पैटनM !योग म� आता ह ैतब लकड़ी के पैटनM पर धातु िछड़काव हो सकता ह ै     A) िब9मथ  B) �जक  C) अcयुमीिनयम  D) उपयुMb म� से कोई भी  66660.0.0.0.    िपट फनxस का !योग इसे गलाने के िलए �कया जा सकता ह ै     A) का9ट लोहा  B) अcयुमीिनयम  C) तांबा  D) उपयुMb म� से कोई भी  66661.1.1.1.    जब का9ट लोह ेको कुपोला म� गरम करते Jए इससे सcफर हटाया जाता है तो !वाह का !योग �कया जाता ह ै    A) मोलासेस   B) चूना प]थर के साथ सोिडयम काबzनेट  C) चूना प]थर के साथ �ज़क सcफेट  D) उपयुMb म� से कोई नह3  66662.2.2.2.    अcयुमीिनयम गलाने के िलए, तलछट म� रहता ह ै     A) अcयुमीिनयम का ऑgसाइड, म�oेिशयम आ�द  B) बालू और धूल   C) हcका पदाथM   D) उपयुMb म� से कोई नह3  66663.3.3.3.    उपभो|य पैटनM इससे बने होते ह�      A) पोिल9टी=रन  B) मोम  C) sला9टर ऑफ पे=रस  D) उपयुMb म� से कोई भी  66664.4.4.4.    इसके मामल ेम� मोcड से पैटनM हटाने क1 आवkयकता नह3 होती ह ै     A) मोम पैटनM  B) खोखला पैटनM  C) कोर के साथ पेटेरस  D) उपभो|य पैटनM  66665.5.5.5.    पोिल9टी=रन समा?यतया इस Tप म� उपलvध रहता ह ै     A) sलेwस  B) िस�लिdकल बार  C) वगाMकार सेgसन  D) ;ेपेजोइडल मोcnस  66666.6.6.6.    पैटनM बनाने के िलए !युb लकड़ी म� गांठ�  ह�। इससे !भािवत हो सकता ह ै     A) टुकड़े क1 अिनयिमतता   B) पैटनM क1 मशीन म� लगाने क1 �मता  C) लकड़ी म� नमी क1 माEा   D) उपयुMb सभी   
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66667.7.7.7.    लकड़ी का चयन पैटनM के िलए करते समय      A) ºÉc÷ÉÆvÉ EòÉä iªÉÉMÉå  B) ितरछी-दाने वाले लकड़ी का चयन �कया जाना चािहए   C) नए बने लकड़ी का चयन करना चािहए  D) पुराने लकड़ी को iªÉÉMÉå     66668.8.8.8.    �कस लकड़ी को मशीन म� देना क=ठन होता ह ै?     A) iÉÉVÉÉ Ê´É¡ò±É ±ÉEòc÷Ò   B) पुरानी और !योग क1 गई लकड़ी  C) भ}ी म� सुखाई गई लकड़ी   D) पुरानी लकड़ी   66669.9.9.9.    पैटनM पर अनुमB संकुचन िनभMर करता ह ै     A) धातु क1 संरचना पर   B) !युb मो�cडग क1 पfित पर   C) तापमान बढ़ने पर   D) उपयुMb सभी  77770.0.0.0.    छोटी का�9टग म� िन+ म� से �कस अलाव�स क1 अनदेखी क1 जाती ह?ै     A) शंृकेज अलाव�स  B) रै�पग अलाव�स  C) dाeट अलाव�स  D) मशी�नग अलाव�स  71.71.71.71.    9!ूस समा?यतया ह�      A) एक आकार के  B) नीचे क1 ओर मुड़े  C) ऊपर क1 ओर मुड़े    D) इनम� से कोई नह3  72.72.72.72.    गेhटग !णाली क1 अपयाMa िडजाइन के कारण िन+ म� से कौन सी खराबी होती ह?ै     A) ठंडा शट  B) खुरदरा सतह  C) िमसरंस  D) उपयुMb म� से कोई भी  73.73.73.73.    िन+ म� से �कस धातु के िलए पोhरग दर ?यूनतम होनी चािहए?     A) इ9पात  B) अcयुमीिनयम  C) तांबा  D) का9ट लोहा  74.74.74.74.    य�द dॉस और 9लैग तरल धातु के साथ मोcड कोटर तक पJचँते ह� वे एक खराबी करते ह� जो कहलाता ह ै     A) िमसरन  B) इंgलूसन  C) vलो होcस  D) उपयुMb सभी  75.75.75.75.    का�9टग म� गमM 9थल सामा?य Tप से पाया जाता ह ै     A) सेgसन म� अिनयिमत अंतर के िलए  B) एक समान ितयMक-काट के साथ  C) दो jुव� पर सीमे=;कल   D) भार म� छोटे ले�कन आयतन म� बड़े  76.76.76.76.    एक .म का सवाMिधक स�म आकार वह ह ैिजसे     A) ?यूनतम ताप �ित दी जाती है  B) लंबी अविध के िलए धातु को गल ेJए अव9था म� रखना  C) उपयुMb (A) और (B) दोन� D) इनम� से कोई नह3  77.77.77.77.    वह पfित िजसम� समा?यतया हरे बालू का !योग �कया जाता है      A) िपट मो�cडग  B) sलेट मो�cडग  C) ब�च मो�cडग  D) उपयुMb म� से कोई नह3  78.78.78.78.    राइजर का 9थान इसपर कम िनभMर करता ह ै     A) का9ट �कया जाने वाला धातु  B) कोर का आकार   C) का�9टग का िडजाइन   D) िनदेशा]मक ठोसीकरन क1 संभाVता  79.79.79.79.    एक vला~ड राइजर ि9थत रहता ह ै     A) कोप म�  B) dैग म� C) या तो कोप या dैग म�  D) केवल चीक म�   
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80.80.80.80.    पै�डग ह ै     A) िचcड का�9टग उ]पादन क1 एक पfित   B) पतली का�9टग के िलए अित=रb आधार  C) का�9टग के मूल एक समान सेgसन म� जोड़ा गया अित=रb धातु   D) उपयुMb म� से कोई नह3  81.81.81.81.    कॉपर का गलनांक ह ै     A) 665°C B) 1083°C C) 1444°C D) 1576°C  82.82.82.82.    सोना इस पर िपघलता ह ै     A) 1063°C B) 1444°C C) 2100°C D) 3300°C  83.83.83.83.    िन+ म� से �कस धातु का गलनांक ?यूनतम ह?ै     A) म�oेिशयम  B) चाँदी  C) �ज़क  D) =टन   84.84.84.84.    एक vला9ट फनxस िनरंतर कायM करता ह ै     A) एक साथ कई घंटे  B) एक साथ कई �दन  C) एक साथ कई सaाह  D) एक साथ कई महीने  85.85.85.85.    एक मीटर Vास और 4 मीटर ऊंचाई वाले एक कोपुला लगभग एक घंटे म� गलाएगा      A) 0.5 टन लोहा  B) 2 टन लोहा C) 5 टन लोहा D) 10 टन लोहा  86.86.86.86.    कोपुला क1 थमMल द�ता क1 सीमा होती है     A) 80 से 90 !ितशत B) 60 से 75 !ितशत C) 50 से 65 !ितशत D) 30 से 50 !ितशत  87.87.87.87.    ऑgसीज़न भरे कोपुला का लाभ ह ै     A) गल ेलोहा का उiतम तापमान  B) कोपुला क1 उi द�ता   C) उ]सजM गैस� म� ताप �ित कम करना  D) उपयुMb सभी  88.88.88.88.    �कस इनोकूल�ट का !योग नमनीय लोहा उ]पा�दत करने के िलए होता ह?ै     A) म�oेिशयम  B) काबMन  C) �ेफ़ाइट  D) uलरुइnस   89.89.89.89.    धातुY का संकुचन इसके अंत म� शुT होता ह ै     A) �V अव9था B) गूदेदार अव9था  C) sलाि9टक अव9था  D) ठोस अव9था  90.90.90.90.    9थायी मोcड का�9टग यह भी कहलाता ह ै     A) �ेिवटी डाइ का�9टग  B) िचल का�9टग  C) 9लश का�9टग  D) शॉटM का�9टग  91.91.91.91.    अिभक� �ी का�9टग का लाभ ह ै     A) घना का�9टग   B) कोर हटाना   C) संभव अ9वीकृित घटाने के साथ बड़ी माEा म� उ]पादन  D) उपयुMb सभी                 
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92.92.92.92.    िन+ म� से कौन िनवेश का�9टग क1 एक िवशेषता अवkय नह3 ह ै?     A) अित आयामीय सटीकता   B) अ]युBम सतह �फिनश  C) िन+ लागत  D) कोप और dैग पfित rारा बने का�9टग पर पाया जाने वाला िवभाजक रेखा को िमटाना   93.93.93.93.    िनवेश का�9टग िन+ म� से इसके िसवाय सभी पर कायM करता ह ै:     A) िम�लग कटसM  B) सोने के आभूषण  C) जेट इंिजन नोजल  D) सुपरचाजMर के िलए बकेट  94.94.94.94.    भूरे का9ट लोह ेके िलए पोhरग तापमान ह ै    A) 1510 से 1532°C B) 1455 से 1495°C C) 1400 से 1465°C D) 1250 से 1290°C  95.95.95.95.    िन+ म� से �कस !�.या का !योग इ9पात को गलाने के िलए होता ह?ै     A) L D !�.या B) काcडो !�.या C) डुsलेgस !�.या D) उपयुMb सभी  96.96.96.96.    एक ढलाई म� गलने क1 माप के िलए �कस मापदंड का !योग �कया जाता ह?ै     A) थमz कपल पाइरोमीटर  B) ऑिsटकल पाइरोमीटर  C) िव�करण पाइरोमीटर  D) उपयुMb म� से कोई नह3  97.97.97.97.    लचील ेका�9टग का !योग इसके िलए होता ह ै     A) बॉयलसM B) ऑटोमोबाइcस C) एिलवेटसM  D) उपयुMb सभी  98.98.98.98.    डाई का�9टग डाई का !योग समा?यतया इसके िलए �कया जाता ह ै     A) का9ट लोहा  B) अcयुमीिनयम िम$ धातु C) िम$ धातु इ9पात  D) कांसा   99.99.99.99.    डाई लग ेभाग� क1 शे�वग इसे हटाने क1 !�.या होती ह ै     A) स!ू  B) eलैश  C) रनर  D) उपयुMb म� से कोई नह3  100.100.100.100.    डाई लग ेभाग� क1 रासायिनक डुबोने अgसर इसके िलए �कया जाता ह ै    A) eलैश हटाना  B) आयामीय 9थािय]व  C) �रण से सुर�ा  D) उपयुMb म� से कोई नह3              
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GENERAL APTITUDE  
1. Vmè`m§Mo doJdoJio JQ> Ago AmoiIbo OmVmV … 
 A) H$m°ÝñQ>boe§g B) {gbopñQ>Ab ~m°S>rO C) A°ñS>am°BS²>g D) H$m°_oQ>  
2. H$moUË`m XoemV {Û-nj nÕVr Amho? 
 A) ^maV B) lrb§H$m C) ỳZm`Q>oS> qH$½S>_ D) Zonmi  
3. Imbrb n¡H$s H$moUVo _°H«$mo nm¡{ï>H$ nXmW© Amho?     A) Mn B) Mg C) Cu D) Zn  
4. ~mînr ^dZmMr à{H«$`m ho H$aVo … 
 A) W§S> B) Ja_ C) H$moaS>o D) darb H$moUVo hr Zmhr  
5. n¥ÏdrÀ`m n¥ð> ^mJmÀ`m WoQ> da Agboë`m H|$ÐñWmZmbm åhUVmV … 
 A) ñQ´>mBH$ B) H$m°_m C) Enrg|Q>a D) Am°[a{OZ  
6. àH$me gmYmaU nUo H$gm àdmg H$aVmo? 
 A) g_H|$Ðr dVw©imH$mamV  B) gai aofo _Yo 
 C) Zoh_r EH$m A§Yma_` joÌmÀ`m {XeoZo D) dH«$aofoV  
7. àW_ Xoe {OWo Am¡Úmo{JH$ H«$m§{V KS>br … 
 A) \«$m§g B) {~«Q>oZ C) O_©Zr D) ỳ Eg  E   
8. Ja_ nmUr {_idÊ`mgmR>r gmobanmÊ`mMm hrQ>a øm {Xder dmnaVm òUma Zmhr … 
 A) ^anya gy ©̀àH$me AgUmam {Xdg B) Am^mi AgUmè`m {Xder 
 C) J_u AgUmam {Xdg  D) A{Ve` dmam AgUmè`m {Xder  
9. ^maVm _Yo àW_ H$mngmÀ`m gyVmMr {JaUr BWo C^maÊ`mV Ambr … 
 A) _Ðmg B) ~m°å~o C) H$mZnya D) gyaV  
10. [aJa _mVr ømMo Xwgao Zmd Amho … 
 A) H$mir _mVr  B) JmimMr (Aë ẁ{dAb) _mVr 
 C) ê$j _mVr  D) bmb (b°Q>oamBQ>) _mVr  
11. 84 Am{U 270 Mo HCF Amho …     A) 8 B) 6 C) 4 D) 2  
12. 3 À`m àW_ nmM _ëQ>rnbMr (nQ>rVrb g§»`m) ~oarO Amho …     A) 45 B) 65 C) 75 D) 90  
13. 7 : 12 ømÀ`mer g__yë` Amho …     A) 28 : 40 B) 42 : 71 C) 72 : 42 D) 42 : 72      
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14. ê$. 2000 da 25/4% à{V df© gaiì`mO 4 \o$~«ydmar 2005 Vo 18 E{àb 2005 øm H$mimgmR>r emoYm… 
 A) ê$. 35 B) ê$. 30 C) ê$. 25 D) ê$. 40  
15. 20 A§H$m§Mo gamgar Amho eyÝ`. Ë`m§À`mn¡H$s, OmñVrVOmñV, {H$Vr eyÝ` nojm A{YH$ AgVrb?     A) 0 B) 1 C) 10 D) 19  
16. EH$ à{ejU KoVbobm YmdnQw> 24 goH§$XmV 200 _rQ>a YmdVmo. Ë`mMm doJ Amho … 
 A) 10 km/Vmg B) 17 km/Vmg C) 27 km/Vmg D) 30 km/Vmg  
17. àË òH$ nyU© qH$dm AnyU© A§H$mV ì`ŠV hmoB©b Aer g§»`m (a°eZb) Amho … 
 A) EH$ ñdm^m{dH$ g§»`m  B) EH$ nyUmªH$ 
 C) EH$ Iarg§»`m  D) EH$ g§nyU© g§»`m (Whole)  
18>. EH$ goH§$X EH$ VmgmMo {H$Vr Xem§e Amho?     A) .0025 B) .0256 C) .00027 D) .000126  
19>. EH$m \$i {dH«o$Ë`m H$S>o H$mhr g\$aM§X hmoVo. Vmo 40% g\$aM§X {dH$Vmo Am{U Ë`mÀ`mH$So AOwZ 420 g\$aM§X {eëbH$ 

AmhoV. Va, _yimV Ë`mÀ`mH$S>o {H$Vr g\$aM§X hmoVo? 
 A) 588 g\$aM§X B) 600 g\$aM§X C) 672 g\$aM§X D) 700 g\$aM§X  
20>. A EH$ H$m_ 10 {XdgmV g§ndVmo Am{U VoM H$m_ B 15 {XdgmV nyU© H$aVmo. Va Vo XmoKo EH$Ì Vo H$m_ {H$Vr {XdgmV nyU© 

H$aVrb? 
 A) 5 {Xdg B) 6 {Xdg C) 7 {Xdg D) 8 {Xdg 

 
DOMAIN KNOWLEDGE  

21. H$mpñQ>¨J_Yrb {dH¥${V Aer H$_r H$aVm òVo …   
 (a) {S>OmB©Z_Yo ~Xb H$ê$Z  (b) ^anya _erqZJ AbmCA§g àXmZ H$ê$Z 
 (c) \$mC§S´>r à°pŠQ>g gwYmê$Z  (d) darb gd©H$mhr  
22. JoQ>oS> n°Q>Z© gmYmaUnUo ømgmR>r dmnaVmV …   
 (a) bhmZ H$mpñQ>¨JMo T>rJmZo CËnmXZ (b) _erqZJ Z bmJUmè`m H$mpñQ>§JMo CËnmXZ 
 (c) Ago H$mpñQ>§J Á`m_Yo AmhoV ^anya Imob (hm°bmo) OmJm     (d) hëŠ`m YmVy§gmR>r H$mpñQ>¨J 
23. H$m{ñQ>§Jdarb _erqZJ AmbmCA§g ømda Adb§~yZ Amho …   
 (a) H$mpñQ>¨JMo gmB©O Am{U AmH$ma (b) H$mpñQ>¨JMo Amo[aE§Q>oeZ (pñW{V kmZ) 
 (c) YmVyMo JwUY_  (d) darb gd©H$mhr 
24. H$mpñQ>¨J n°Q>Z© gmYmaUnUo ømgmR>r dmnaVmV …   
 (a) bhmZ H$mpñQ>¨J (b) Zm°Z-\o$ag H$mpñQ>¨J (c) _moR>>o H$mpñQ>¨J        (d) Imob (hm°bmo) H$mpñQ>¨J 
25. n°Q>Z©da àXmZ Ho$bobo S´>>mâQ> AbmCA§g ømda Adb§~yZ Amho …   
 (a) n°Q>Z© EŠgQ´>°ŠQ> (H$mT>Ê`mV) òUmè`m Cä`m ~mOyMr bm§~r           (b) n°Q>Z©Mr B§{Q´>Ho$gr (JwVmJw§Vr) 
 (c) _mopëS>¨JMr nÕVr  (d) darb gd©H$mhr 
26. eob n°Q>Z© AZoH$doim ømgmR>r dmnaVmV …   
 (a) nmB©n dH (b) ~|S²>g (c) S´>oZoO {\$qQ>J        (d) darb gd©H$mhr 
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27. _mopëS>¨J g°ÝS>Mr àdoej_Vm ømda Adb§~yZ Amho …   
 (a) J«oZMm gmB©O            (b) J«oZMm AmH$ma (eon) (c) AmÐ©VoMo n[a_mU       (d) darb gd©H$mhr 
28. dmiyMo XmQ> KQ²>Q> ~gdUo …     
 (a) S>opÝgQ>r àdoej_Vm dmT>dVo (b) S>opÝgQ>r H$_r H$aVo Am{U àdoej_Vm dmT>dVo 
 (c) XmoÝhr S>opÝgQ>r Am{U àdoej_Vm H$_r H$aVo        (d) XmoÝhr S>opÝgQ>r Am{U àdoej_Vm dmT>dVo 
29. dmiyMr àdoej_Vm H$_r hmoVo H$maU …   
 (a) àdoej_Vm dmT>Vo              (b) AmÐ©VoMo n[a_mU dmT>Vo  
 (c) OmoS>Ê`mMo n[a_mU dmT>Vo     (d) darb gd©H$mhr 
30. â ẁ{O§J qH$dm ~«oH$S>mCZ ({~KmS>) Pmë`m{edm` AmoVr` YmVyMo CÀM Vmn_mZ ghZ H$aÊ`mÀ`m dmiyÀ`m øm JwUY_m©bm 

åhUVmV…   
 (a) [a\«°$ŠQ>arZog            (b) H$moho{gìhZog (c) nmoamo{gQ>r                (d) A°Yo{gìhZog 
31. {haì`m dmiyMo {MH$U_mVrMo (Šbo) n[a_mU Amho …   
 (a) 1 Vo 3 Q>ŠHo$            (b) 5 Vo 10 Q>ŠHo$ (c) 18 Vo 30 Q>ŠHo$       (d) 30 Vo 50 Q>ŠHo$ 
32.  Imbrbn¡H$s H$moUË`m dmiy_Yo Cƒ [a\«°$ŠQ>arZog Agmdo?   
 (a) ~°qH$J g°ÝS> (b) nm{Q>ªJ g°ÝS> (c) \o$qgJ g°ÝS> (d) darb gd©H$mhr 
33. \o$ag H$m{ñQ>§J_Yo n¥ð>^mJmMo CÎm_ {\${Ze {_idÊ`mgmR>r Imbrbn¡H$s H$m` dmnaVmV …   
 (a) J«mC§S> {nM (b) gr (sea) H$mob (c) {JëgmoZmBQ> (d) darb H$moUVohr 
34. dmiyda Oibobo H${R>U H$aVo øm_Yo …   
 (a) H$mpñQ>¨JMo _erqZJ H$aU  (b) gmÀ`mVyZ H$m{ñQ>§J H$mT>Uo 
 (c) AmoVë`mda dmiy Am{U H$mpñQ>¨J doJio H$aUo (d) darb gd©H$mhr 
35. _mopëS>¨J g°ÝS>da H$mob S>ñQ> Q>mH$Ê`mMo n[a_mU ømda Adb§~yZ Amho …   
 (a) H$m{ñQ>§JMm AmH$ma >(b) H$mpñQ>¨JMr OmS>r (c) AmoVÊ`mMo Vmn_mZ >>(d) darb H$moUVohr Zmhr 
36. _°½Zo{e`_ H$mpñQ>¨JgmR>r _mo{ëS>§J g°ÝS>_Yo g§ajH$ {_lH$ (A°S>{_ŠgMa) åhUyZ Imbrbn¡H$s H$moUVo dmnaVmV?   
 (a) ~mo[aH$ A°{gS>> (b) g~bmB©åS> gë\$a (c) âbwAmo[aH$ A{S>{Q>ìh²g>> (d) darb H$moUVohr 
37. Imbrbn¡H$s H$moUVo ñH«$rZ Amho?   
 (a) em°ìhob (\$mdS>o) (b) [aS>b (MmiU) (c) [aAZ©a> >(d) pñbH$ 
38. pñbH$ àm_w»`mZo ømgmR>r dmnaVmV …   
 (a) _moëS>_Yo (gmÀ`mV) AmonqZJ (CKS>Ê`mMr {H«$`m) H$aÊ`mgmR>r        
  (b) _moëS>_Yo AmonqZJ àXmZ H$aÊ`mgmR>r 
 (c) _moëS>À`m Xwê$ñVr Am{U {\${Z{e§JgmR>r  
 (d) _moëS>_YyZ n°Q>Z© ~mhoa H$mT>Ê`mgmR>r 
39. ñdm°~ dmnaVmV ømgmR>r …   
 (a) n°Q>Z©À`m H$S>oÀ`m ^modVr _moëS>da nmUr Q>mH$Uo       
 (b) _moëS>_YyZ n°Q>Z© ~mhoa H$mT>Uo gmono Omdo åhUyZ n°Q>Z© OmoamV hbdUo  
 (c) _moëS>Mr Xwê$ñVr Am{U {\${ZqeJ                       
 (d) darb H$moUVohr Zmhr 
40. _moëS>_YyZ _moR>o n°Q>Z© OmoamV hbdUo Am{U CMbUo gmono H$aVo …   
 (a) Q´>m°dob (b) ñdm°~ (c) ~obmoO (d) [a{n§J ßboQ> 
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41. _mopëS>¨J Am{U H$moa g°ÝS>Zm naV {_idÊ`mgmR>r n{hbm Q>ßnm Amho …   
 (a) AmÐ©Vm Q>mH$Uo (b) ~mB§S>aMo nwZà©_mU H$aUo (c) YmVyMo VwH$S>o doJio H$aUo (d) darb H$moUVohr 
42. VrZ ~m°Šgog dmnê$Z ~|M _mopëS>J̈Mr nÕV H$aÊ`mV òVo, Voìhm§ _Yë`m ~m°Šgbm åhUVmV …   
 (a) H$mon (b) MrH$ (c) S´>°J (d) darb H$moUVohr Zmhr 
43.  dmiy_Yo gmo{S>`_ {g{bHo$Q> ~hþVoH$ doim Ago dmnaVmV …   
 (a) {MH$U_mVr (Šbo)À`mEodOr                   (b) ~mB§S>a 
 (c) [a\«°$ŠQ>ar gm{hË`  (d) àdoej_VoMm àMma EO§Q> 
44. \w$a°Z à{H$ òV, \w$a°Z ami àm_w»`mZo Ago dmnaVmV …   
 (a) ~mB§S>a åhUyZ                   (b) EŠgmoW{_©H$ [aA°ŠeZgmR>r Ho${_H$ëg 
 (c) âbŠgog  (d) darb H$moUVohr Zmhr 
45. S´>m°~°H$ dmnaVmV Ooìhm§ ho hmoVo …   
 (a) n°Q>Z© A{Ve` AdOS> AgV (b) n°Q>Z© A{Ve` bm§~ AgVo 
 (c) àmoOoŠeZ (nwT>o òUmao) _wio n°Q>Z© gmÀ`mVyZ H$mTV>m òV Zmhr           (d) n°Q>Z© bmH$S>mMo ~Zdbobo Zmhr 
46.  H$m{ñQ>§J_Yrb ãbmo hmoëg AmhoV H$maU …   
 (a) dmiy_Yrb AmÐ©VoMo Cƒ à_mU  
 (b) dmiyMr H$_r àdoej_Vm 
 (c) A{Ve` OmñV§ ~marH$ J«oÝg (XmUo) Am{U J°gMo CËnmXZ H$aUmao KQ>H$   
 (d) darb H$moUVohr 
47. ñH°$~ (Inbr) hmoD$ eH$Vo øm H$maUmZo …   
 (a) dmiyMr H$_r àdoej_Vm  (b) dmiy_Yrb A{V OmñV§ AmÐ©VoMo à_mU 
 (c) dmiyÀ`m n¥ð>^mJmda AmoVr` YmVyMo _YyZ_YyZ YmdUo (d) darb H$moUVohr 
48.  M°nboQ²>g AmhoV … 
 (a) H$moa ~mB§S>g©                   (b) H$moa gnmoQ>©g©  
 (c) H$moa àmoOoŠe§g                 (d) H$moabm gnmoQ>© H$aÊ`mgmR>r _moëS> grQ²>g 
49. M°nboQ²>g øm_Yo {Xbo OmVmV …   
 (a) H$moa g°J H$_r H$aÊ`mgmR>r                               (b) OS> H$moaZm Q>oHy$ XoÊ`mgmR>r 
 (c) Anwè`m H$moagrQ>Mr CUrd ^ê$Z H$mT>Ê`mgmR>r      (d) darb gd©H$mhr 
50. ñàyMo H«$m°g-goŠeZ (AmS>dm N>oX) Amho …   
 (a) Mm¡H$moZr           (b) dV©wimH$ma (c) Am`VmH¥$Vr      (d) darb H$moUVohr 
51. VobmZo OmiÊ`mV Ambobo \$Z}g gmYmaUnUo dmnaVmV ho {dViÊ`mgmR>r …   
 (a) H$mñQ> ñQ>rb (b) Abm°` ñQ>rb (c) H$mñQ> Am`Z© (d) Zm°Z-\o$ag _oQ>ëg 
52. H$m°na Abm°` \$mC§S´>r_Yo Imbrbn¡H$s H$moUVo dmnabo OmVo AmoVr` YmVyMo Am°pŠgS>mBÁS> hmoUo Q>miÊ`mgmR>r?   
 (a) MmaH$mob (b) ~moZ A°e (c) \$m°ñ\$moag (d) H°$pëe`_ H$m~m}ZoQ> 
53. _oQ>°{bH$ n°Q>Z©Mm Xmof Amho …   
 (a) A{Ve` OmñV§ dOZ (b) _hmJ (c) AmH$ma ~ZdUo H${R>U (d) darb gd©H$mhr 
54. BbopŠQ´>H$ \$Z}g gmYmaUnUo øm Vmn_mZmn ª̀V Am°naoQ> H$aVm òVo …   
 (a) 1000°C (b) 1250°C (c) 1700°C (d) 2200°C 
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55. n°Q>Z© ~ZdÊ`mgmR>r bmHy$S> ho gm{hË` dmnaUo AZwê$n Zmhr …   
 (a) Ë`mMr H$_r {H$§_V  (b) Ë`mMr doJdoJir ñQ´>|W J«oÝgÀ`m ~mOyZo Am{U g§nyU© J«oÝgda 
 (c) ì`dpñWVnUo gmR>dbo Zmhr Va dmH$S>o{VH$S>o hmoVo (d) H$mñQ> H$aÊ`mV òUmè`m YmVynojm hëHo$ 
56. n°Q>Z© ~ZdÊ`mgmR>r H$moUVo bmHy$S> dmnaVm òB©b?   
 (a) _hmJmoZr (b) nmB©Z dyS> (c) Q>rH$ dyS> (d) darb H$moUVohr 
57. ßbmñQ>a n°Q>Z© Am{U H$moa ~m°Šgog ømZo ~Zdbo OmVmV …   
 (a) ßbmñQa> Am°\$ n°[ag (b) {Oßg_ {g_|Q> (c) ~moZ Mm`Zm Šbo (d) ìhmB©Q> nmCS>a 
58. _oUmMo n°Q>Z© ømV dmnaVmV …   
 (a) Zm°Z-\o$ag H$mpñQ>¨½g  (b) B§ìhoñQ>_|Q> H$m{ñQ>>§J à{H«$`m  
 (c) _erZ _mopëS>¨J à{H«$`m  (d) darb gd©H$mhr 
59. Ooìhm§ YmVyMm Wa bmdbobo bmH$S>r n°Q>Z© dmnam`Mo AgVmV, Voìhm§ bmH$S>r n°Q>Z©da \$ìdmam _mabobo YmVy Agy eH$Vo…   
 (a) {~ñ_W (b) qPH$ (OñV) (c) Aë ẁ{_{Z`_ (d) darb H$moUVohr 
60. {nQ> \$Z}g ho {dViÊ`mgmR>r dmnaVm òVo …   
 (a) H$mñQ> Am`Z© (b) Aë ẁ{_{Z`_ (c) {nVi (~«mg) (d) darb H$moUVohr 
61. Hw$nmobm_Yo H$mñQ> Am`Z© {dViVmZm, H$mñQ> Am`Z©_YyZ gë\$a H$mTy>Z KoVmZm, Oo âbŠg dmnabo OmVo, Vo Amho …   
 (a) _mob°gog  (b) gmo{S>`_ H$m~m}ZoQ> bmB©_ñQ>moZ gmo~V 
 (c) qPH$ gë\o$Q> bmB©_ñQ>moZ gmo~V (d) darb H$moUVohr Zmhr 
62. Aë ẁ{_{Z`_ {dViVmZm, S´>m°g_Yo Amho …   
 (a) Aë ẁ[_{Z`_, _°¾o{e`_ dJ¡aoMo Am°ŠgmBS> (b) dmiy Am{U Yyi 
 (c) OmñV§ hëHo$ gm{hË`  (d) darb H$moUVohr Zmhr 
63. H§$Â ẁ_o~b n°Q>Z© ømZo V`ma Ho$bo Jobo Amho …   
 (a) nm°{bñQ>m`[aZ           (b) _oU (c) ßbmñQ>a Am°\$ n°[ag (d) darb H$moUVohr 
64. gmÀ`mVyZ n°Q>Z© ~mhoa H$mT>Ê`mMr Amdí`H$Vm Zmhr øm~m~VrV …   
 (a) _oUmMo n°Q>Z©          (b) nmoH$i (h>m°bmo) n°Q>Z© (c) H$moagmo~V n°Q>Z© (d) H§$Â ẁ_o~b n°Q>Z© 
65. nm°{bñQ>m`[aZ gmYmaUnUo CnbãY Amho øm ñdê$nmV …   
 (a) ßboQ> (b) {gqb{S´>H$b ~ma (c) Mm¡H$moZr goŠeZ (d) Q´>°{nPm°`S>b _moëS> 
66. n°Q>Z© ~ZdÊ`mgmR>r dmnaÊ`mV òUmè`m bmH$S>mda JmR>r AmhoV. hm n[aUm_ ømda hmoD$ eH$Vmo …   
 (a) nrgMo dmH$S>o{VH$S>o hmoUo  >(b) n°Q>Z©Mr _erZ H$aÊ`mMr j_Vm  
 (c) bmH$S>m_Yrb AmÐ©Vm  (d) darb gd©H$mhr 
67. n°Q>Z©gmR>r bmHy$S> {ZdS>VmZm ho ~Kmdo …   
 (a) gS>bobo H$mTy>Z Q>mH$mdo                  (b) H«$m°g-J«oÝS> bmHy$S> {ZdS>mdo 
 (c) VmOo ^abobo bmHy$S> {ZdS>mdo (d) {ggÝS> bmHy$S> H$mTy>Z Q>mH$mdo 
68. H$moUVo bmHy$S> _erZ H$am`bm H${R>U Amho?   
 (a) VmOo VmOo ^abobo bmHy$S>  (b) OwZo Am{U dmnabobo bmHy$S> 
 (c) ^Q²>Q>rV dmidbobo bmHy$S>  (d) {ggÝS> bmHy$S> 
69. n°Q>Z©gmR>r H$m°ÝQ´>°ŠeZ AbmCA§g ømda Adb§~yZ Amho …   
 (a) YmVyMr aMZm  (b) _mo{ëS>§J nÕVr dmnaÊ`mV Ambr 
 (c) AmoVÊ`mMo Vmn_mZ  (d) darb gd©H$mhr 
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70. bhmZ H$m{ñQ>§J_Yo Imbrbn¡H$s H$moUË`m AbmCA§g (_mÝ`Vm) H$S>o Xwb©j H$aVm òVo?   
 (a) {l§Ho$O AbmCA§g                  (b) a°{n§J AbmCA§g (c) S´>mâQ> AbmCA§g (d) _erqZJ AbmCA§g 
71. ñày gmYmaUnUo AmhoV …   
 (a) EH$g_mZ gmB©OMo (b) ImbÀ`m ~mOybm Q>onS>© (c) daÀ`m ~mOybm Q>onS©         (d) darb H$moUVohr Zmhr 
72. JoqQ>J {gñQ>_À`m A`mo½` {S>OmB©Z_wio Imbrbn¡H$s H$moUVm Xmof hmoD$ eH$Vmo?   
 (a) H$moëS> eQ²>g           (b) a\$ g\}$gog (c) {_ñaÝg                  (d) darb H$moUVohr 
73. Imbrbn¡H$s H$moUË`m YmVy§_Ü ò AmoVrd doJ {H$_mZ Agmdm?   
 (a) ñQ>rb               (b) Aë ẁ{_{Z`_ (c) {nVi (~«mg)    (d) H$mñQ> Am`Z© 
74. Oa gmÀ`mÀ`m nmoH$irV {b{¹$S>gmo~V S´>m°g Am{U ñb°J nmoMbo Va CËnÞ Pmboë`m Xmofmbm åhUVmV …   
 (a) {_ñaZ               (b) B§Šë ẁe§g (c) ãbmo hmoëg          (d) darb gd©H$mhr 
75. hm°Q> ñnm°Q²>g gmYmaUnUo Aem H$mpñQ>¨J_Yo gmnS>VmV …   
 (a) goŠeZ_Yo AmH$pñ_H$ V\$mdV AgU (b) EH$g_mZ H«$m°g-goŠeZ gmo~V 
 (c) XmoZ A°Šgog~Ôb à_mU~X²>Y ({g_o{Q´>H$b) (d) dOZmZo bhmZ nU KZ\$imZo _moR>o 
76. EH$ l¥§IboMm gdm©{YH$ H$m ©̀j_ AmH$ma Amho Omo Agm Amho … 
 (a) {H$_mZ hrQ>bm°g XoVmo         (b) OmñV§ H$mimgmR>r YmVybm AmoVr` AdñWoV R>odVmo 
 (c) XmoÝhr (a)Am{U (b)  (d) darb H$moUVohr Zmhr 
77. EH$ nÕVr Á`mV gmYmaUnUo {hadr dmiy dmnabr OmVo … 
 (a) {nQ> _mo{ëS>§J (b) ßboQ> _mo{ëS>§J (c) ~|M _mopëS>¨J (d) darb H$moUVohr Zmhr 
78. am`OaMo ñWmZ ømda {H$_mZ Adb§~yZ Amho … 
 (a) H$mñQ> H$aÊ`mV òUmam YmV (b) H$moaMm gmB©O 
 (c) H$mpñQ>¨JMo {S>OmB©Z  (d) S>m`aoŠeZb gm°{b{S>{\$Ho$eZMr eŠ`Vm 
79. ãbmB§S> am`Oa BWo gmnS>ob … 
 (a) H$mon_Yo                      (b) S´>°J_Yo (c) H$mon qH$dm S´>°J_Yo         (d) \$º$ MrH$_Yo 
80. n°{S>§J Amho ho … 
 (a) MrëS> H$mpñQ>¨JÀ`m CËnmXZmMr nÕVr  
 (b) nmVi H$mpñQ>¨JgmR>r A{YH$ Q>oHy$ 
 (c) H$mpñQ>¨JÀ`m _wiÀ`m EH$g_mZ goŠeZ_Yo A{YH$ YmVy Q>mH$Uo 
 (d) darb H$moUVohr Zmhr 
81. H$m°na (Vm§~§)Mo _opëQ>¨J nm°B§Q> Amho … 
 (a) 665°C (b) 1083°C (c) 1444°C (d) 1576°C 

82. gmoZ§ ømda {dViVo … 
 (a) 1063°C (b) 1444°C (c) 2100°C (d) 3300°C 

83. Imbrbn¡H$s H$moUË`m YmVyMo _o{ëQ>§J nm°B§Q> gdm©V H$_r Amho? 
 (a) _°¾o{e`_ (b) {gëìha (Mm§Xr) (c) qPH$ (OñV) (d) {Q>Z 
84. EH$ ãbmñQ> \$Z}g gVV Am°naoQ> H$aVo BVHo$ … 
 (a) AZoH$ Vmg EH$Ì (b) AZoH$ {Xdg EH$Ì (c) AZoH$ AmR>dS>o EH$Ì (d) AZoH$ _{hZo EH$Ì 
85. 1 _rQ>a ì`mg Am{U 4 _rQ>a C§Mr Agbobo Hw$nmobm EH$m VmgmV {dViob OdiOdi … 
 (a) 0.5 Q>Z Am`Z© (b) 2 Q>Z Am`Z© (c) 5 Q>Z Am`Z© (d) 10 Q>Z Am`Z©    
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86. Hw$nmobmMr W_©b E{\${eE§gr øm a|O_Yo Amho … 
 (a) 80 Vo 90 Q>¸o$ (b) 60 Vo 75 Q>¸o$ (c) 50 Vo 65 Q>¸o$ (d) 30 Vo 50 Q>¸o$ 
87. Am°pŠgOZZo g_¥Õ Agboë`m Hw$nmobmMm \$m`Xm hm Amho … 
 (a) AmoVr` Am`Z©Mo A{YH$ Cƒ Vmn_Mz (b) Hw$nmobmMr Cƒ H$m ©̀j_Vm 
 (c) dm`m OmUmè`m J°gog_Yo H$_r hrQ> bm°g (d) darb gd©H$mhr 
88. bd{MH$ (S>ŠQ>mB©b) Am`Z©À`m CËnmXZmgmR>r H$moUVo BZm°Š ẁb§Q> (à{VamoYH$) dmnaÊ`mV òVo … 
 (a) _°¾o{e`_ (b) H$m~©Z (c) J«°\$mB©Q> (d) âbwamBS²>g 
89. YmVyMo AmIS>Uo H$moUË`m Q>ßß`mÀ`m eodQ>r gwê$ hmoVo? 
 (a) {b{¹$S> Q>ßnm (b) _er (_D$) Q>ßnm (c) ßbmpñQ>H$ Q>ßnm> (d) gm°{bS> Q>ßnm 
90.  H$m`_À`m _moëS> H$mpñQ>¨Jbm hogwÕm åhUVmV … 
 (a) J«°pìhQ>r S>m` H$mpñQ>¨J      (b) Mrb H$mpñQ>¨J (c) ñbe H$mpñQ>¨J> (d) em°Q>© H$mpñQ>¨J 
91. g|{Q´>â ẁJb H$m{ñQ>§JMm \$m`Xm Amho … 
 (a) S>oÝg (KZXmQ>) H$m{ñQ>§½g  (b) H$moa H$mTy>Z Q>mH$Uo  

 (c) H$_r {Zê$n`moJr eŠ`Vogmo~V T>rJmZo CËnmXZ >(d) darb gd©H$mhr 
92. Imbrbn¡H$s H$moUVo B§ìhoñQ>_|Q> H$m{ñQ>§JMo Amdí`H$ JwUY_© Zmhr? 
 (a) AVr S>m`_|eZb AMyH$nUm       (b) gdm}Îm_ g\}$g {\${Ze 
 (c) H$_r IMm©Mm >(d) H$mpñQ>¨Jda gmnS>Umao H$mon Am{U S´>°J nÕVrZo hmoUmao {dÐÿn nm{Q>ªJ bmB©Z Zmhr 
93. B§ìhoñQ>_|Q> H$m{ñQ>§J Ho$bo OmVo Imbrb gdmª_Yo, ømÀ`m{edm` … 
 (a) {_qbJ H$Q>g©             (b) gmoÝ`mMo Xm{JZo  
 (c) OoQ> B§{OZ Zm°Pëg>  (d) gwnaMmO©g©gmR>r ~mXë`m (~oH$Q²>g) 
94. J«o H$mñQ> Am`Z©gmR>r AmoVÊ`mMo Vmn_mZ Amho … 
 (a) 1510 Vo 1532°C (b) 1455 Vo 1495°C (c) 1400 Vo 1465°C >(d) 1250 Vo 1290°C 

95. ñQ>rb {dViÊ`mgmR>r Imbrbn¡H$s H$moUVr à{H$«`m dmnaVmV? 
 (a) LDà{H«$`m (b) H$mëS>mo à{H«$`m (c) S>çwßbo à{H«$`m> (d) darb gd©H$mhr 
96. \$mC§S´>r_Yo {dVibobo (_oëQ>) _moOÊ`mgmR>r H$moUVo n°am_rQ>a dmnaVmV ? 
 (a) W_m} H$nb nm`amo_rQ>a (b) Am°pßQ>H$b nm`amo_rQ>a (c) ao{S>EeZ nm`amo_rQ>a >(d) darb H$moUVohr Zmhr 
97. _°{bE~b (R>moHy$Z AmH$ma XoÊ`mOmoJm) H$mpñQ§J ømV dmnaVmV … 
 (a) ~m°`bg© (b) Am°Q>mo_mo~mB©ëg (c) E{bìhoQ>g© ({bâQ>) >(d) darb gd©H$mhr 
98. S>m` H$mpñQ>¨J S>mBO gmYmaUnUo ømMo ~Zdbobo AgVmV … 
 (a) H$mñQ> Am`Z© (b) Aë ẁ{_{Z`_ Abm°BO (c) Abm°` ñQ>rëg> (d) ~«m°ÝP 
99. S>m` H$mñQ>oS> ^mJmMo VmgUo (eopìh¨J) åhUOo ho H$mTy>Z Q>mH$Ê`mMr à{H«$`m … 
 (a) ñày (b) âb°e (c) aZa >(d) darb H$moUVohr Zmhr 
100. S>m` H$mñQ>oS> ^mJm§Mo amgm`{ZH$ {S>qnJ (~wS>dUo) gmYmaUnUo ømgmR>r H$aVmV … 
 (a) âb°e [a_wìhb (b) S>m`_|eZb ñQ>o{~{bQ>r (c) H$moamoeZ àmoQ>oŠeZ (d) darb H$moUVohr Zmhr 
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